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Who was the founding father of both the world bank and International
monetary Fund?
a. Rudi Dorbush b. Harry Dexter White

c. ].M. Keynes d.band c

® 60& QURIE IOBWID UMl B UsbhlgHwd Elul @rewientujb CHTmmialds
&BIT[FGOOTLDTGOTGUT  UTIT?

a. (Blg LTS b. Gamfl GL e Geuruil

c. J.M. &eiterd d. b w@mib ¢

Choose the correct statements

1. The Brettonwoods Conference proposed IMF, World Bank and
International Trade Organisation (ITO) in 1945.

2. The IMF and World Bank were started in 1945.

3. Instead of ITO, an interim arrangement was made and named GATT
(General Agreement on Tariff and Trade)

4. GATT was replaced as WTO (World Trade Organisation) in the year
1995.

a.1,2,3 b.1,3,4 c.2,3,4 d.1,2 3,4

Leieu(heueTeuBmien Fllwimen SnBmIseT eleneu?

1. uelteoIm (h U6l HIHUID, 2 605 6URIS WBBID LTI (hH 6UTeNNdH  HiMIeU6TLD
(ITO) o Fw  wSIB  HBeUETRIGmeT 2 (HauTdd 194560  dnlgul LT L 6o
oyl e TBTEG LMbSHImTSHHSl-

2. uetem (B L6l HBHWIPD 2 605 URISUD 194560 QHTLBISLILILL .

3. UL (h euTewld [HBIUMISHSSL UHeTH HBHTEVSH SHIEUTH  GUTERNSLD
BEID  HmeusendsTer  Gurgk  @uubsd  (GATT)  eaem  oemwoliy
® (HeUTHSBLILIL L ).

4. 1995 b oemiged GATT ooz 2 0 afshss Swiurs (WTO)
LOTBBLILL LS.

a.1,2,3 b.1,3,4 c.2,3,4 d.1,23,4

Which organization was established to assist the member nations to tide
over the Balance of Payments disequilibrium in the short term?

a. WTO b. IMF c. GATT d. IBRD
o miiy BTGHEHGHG GUBIFHW  HTev DUWEOHT. B OFeomeusnll  FioLdleTenLDEmUL
Fonefléds o HOUSBHTEH DIGHIDSHBLILL L Hipleuetd 61?7

a. WTO b. IMF c. GATT d. IBRD
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Which one of the following is called “Paper Gold”?

a. SLR b. SDR c. PPP d. CRR
LTeiTaU(hHeUGTOUBMIGT 615 “HT6T HMIGBLD 61einl DIPSHBILBGBBSHI?

a. SLR b. SDR c. PPP d. CRR

When did IMF establish Structural Adjustment Facility (SAF)?

a. 1986 b. 1996 c. 1987 d. 1997

IMF emiQumupa sl Lemwliy &l Qsuise eugdeww (SAF) oiemnsss?
a. 1986 b. 1996 c. 1987 d. 1997

Which of the following is an objectives of IBRD?

Reconstruction and Development

Encouragement to Capital Investment

Encouragement to International Trade

Establishment of Peace-time Economy

. Environment Protection

a.1,2,3 b.1,2,4 c.1,2,3,4 d.1,2,3,4,5
LetaumeuateuBmleln o1&l / ool 2 o0& eumiduier CrThamIG6T SLEHID?
1. wpiFyenwiy wBpid Gwbur®

2. CLPEVGHE (LPSH6eVL I9MEG 6@ ailLIL]

3. UMl (B euTenluSHHMBE 2msHEGaiLIL|

4. 9IMHBTEV OUTHNMTHTTHNSH 2 (HeUTHH6D
5

a

Ol W=

. GDBDBIFGLP60 LITHISBITLIL]

.1,2,3 b.1,2,4 c.1,2,3,4 d.1,2,3,4,5

Match the following

World Bank Group Year

A.IBRD 1. 1958

B. IDA 2.1966

C.IFC 3.1956

D. MIGA 4.1960

E. ICSID 5.1945
A B C D E

a. 5 4 3 1 2

b. 5 3 4 1 2

c. 3 1 2 5 4

d 5 4 3 2 1

QUIT(hS SIS

® 605 GURIS (LD S601(h

A.IBRD 1. 1958

B. IDA 2.1966
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C.IEFC 3.1956

D. MIGA 4. 1960

E. ICSID 5.1945
A B C D E

a. b 4 3 1 2

b. 5 3 4 1 2

C. 3 1 2 5 4

d 5 4 3 2 1

Where was the first World Trade Organization conference held?

a. Geneva b. Nairobi c. Singapore d. Doha
® 608 AJHHD DIMIDLLTGT (pHeL OTHTH 6IMIE HewL CLBBSHI?
a. Omefeur b. emGym C. FmisLiyy d. Gxram

In which year did Afghanistan join in SAARC?

a. 2000 b. 1985 c. 2007 d. 2010
ahd pewtiged SulisTalengter SAARC gemwliiled SenewntbHai?
a. 2000 b. 1985 c. 2007 d. 2010

How many countries those were pioneered the establishment of ASEAN?
a.3 b. 5 c. 10 d.11

sFfwmer  (ASEAN)  geowleou  CarmBmielssdled  aoHHemen  BTBHSH6NT
(WPeTCeTmoH6NTeS  E)(HHIH60T !

a.3 b.5 c. 10 d.11

Choose the correct statement

1. The term BRIC was coined in 2000.

2. Since 2009, the BRICS nations have met annually at formal summit.
3. The first BRICS summit was held at Shanghai.

4. BRICS headquarter is at Shanghai.

a.1,2,3 b.2,3,4 c.1,3 d.2, 4

gilwmer eursHwdHms BHiThH0HHHHLD

1. BRIC ate5i3 Gamed 2000 &60 2 (HoumdHLiLLl L G.

2. BRICS pr®sen 2009 ad(mba o & 1ombTHEemen Bl s al(hHad6iment.
3. apHev flderd omHTH agmmisTulled Henl CLIBBSI.

4. Ufléed eI HEmeLeDID DIVIAIVHID AFTHISTUIEL DIHLDHSIGTETS).
a.1,2,3 b.2,3,4 c.1,3 d. 2,4

Choose the correct statements
1. The BRICS countries make up 21 percent of global GDP.
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2. The BRICS are home to 41 percent of the World’s Population.

3. The BRICS countries have combined foreign reserves of an estimated
$4.4 trillion.

a.1,2 b.2,3 c.1,3 d.1,23

gflwmen euTsHwGHms BHiThH0HHHBHMLD

1. BRICS mrigser o s Owrds GCxdw o musbHduisd 21 Faaisbd
LM MI6TET6DT.

2. 2 o0& WdHeT  Gamensulsd, BRICS 41 gspeissms Uil iors
O mewI(BeTeNG).

3. BRICS miGgser Qemenbg asony  $4.4  wpilevedwer  ojetell G HlienL
CUBBIGTENG).

a.1,2 b.2,3 c.1,3 d.1,23

The term fiscal is derived from Greek word which means :
a. Money b. Basket c. Small Leather Bag d. Box
“Udlape0” eteti3 Ogmed &HBrsHs aumihHmauledmbadl CQUBLILLL &I, DiHeT CUT(He

a. LewTlb b. gmenL c. Anflw BxHrmenLs d. Quiig

“Public Finance is an investigation into the nature and principles of the
state revenue and expenditure” who stated?

a. Adam Smith b. Huge Dalton

c. ].M. Keynes d.].B. Say

“Odfler  eaumeutul  oBmID  CFeveasellal  BuicdenUUD,  OBHTETENSHHENGTUILD
oTUIeNts Gurg HgHulluied @’ wny Fapsluig?

a. o 1b el b. anfuley L meoL esr

c. .M. &eirerd d.].B. @&

In modern times, the subject “Public Finance” includes how many sub-
divisions?

a.2 b. 3 c. 4 d.5

Heieor HT6VSHH| 60 QuTg) B &Hulluied 618> 360601 Hlen el 1L 61 emer
®_ 66N dhablU6iTen ] ?

a.2 b. 3 c. 4 d.5

Assertion (A): Public Finance deals with study of income, expenditure,
borrowing and financial administration of the government.

Reason (R): Private Finance is the study of income, expenditure
borrowing and financial administration of individual or Private companies.
a. Both (A) and (R) are correct and (R) is the correct explanation of (A).

b. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187
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c. (A)is true but (R) is false
d. (A) is false but (R) is true
ampl (A): Qungl B eaiLs Sder aumautul, CF6va], HLIH6T BBID H
BiyeuTsd uBml allend@amal.
amyenrd (R): ST HiFH 6IdTLF SHONBLT DIVEVH HENWTT [HlBIeU6THIS6N 60T
aUmHeUTUI, GFeve], SL 6T LOBBID B MeuTsd BB allensEGHHBS.
a. (A) wppid (R) @yewigic oMl Gwsd (R) eremug (A) alBg  sfluimen
alleNebHBID LGLD.
b. (A) wmpid (R) Gpewid af opemed (R) eaiug (A) olBe  aflwmen
61T &HLDEV6L.
c. (A gl gemed (R) seum
d. (A) seam spemed (R) &l

Assertion (A): Now the government expenditure is increasing every

financial year.

Reason (R): The modern state is a welfare state.

a. Both (A) and (R) are correct and (R) is the correct explanation of (A).

b. Both (A) and (R) are correct but (R) is not the correct explanation of (A).

c. (A) is correct but (R) is false

d. (A) is false but (R) is correct

gppl (A): sBOUTIRE  @albeumm  BHwumeawigBel  opdlar  OFevaled

NP &S UBBBII.

smyenid (R): SHBHM0 DTG 6leiLF HevD Cuamid DIFFTGLD.

a. (A) vppb (R) @pemipo oM Gweaud (R) eeug (A) alBg gfwmen
N6 SBLOTG)LD.

b. (A) wspdb (R) @yewibd &l opemed (R) eeiug (A) alBe aflwmen
Q1688 L06D6V

c. (A) gfl gemed (R) seum

d. (A) samp semed (R) o

Choose the correct statement regarding urbanisation in India?

1. In 1950-51 about 17% of the population was urban based.

2. Now the urban population has increased to about 43 %

3. There are more than 54 cities above one million population.

a.1,3 b.1,2 c.2,3 d.1,2,3

BhHwTaled BHSTOWIDTH GBSHH Fllwrer eursdluimsamen BHiThoHHaHEHD

1. 1950 — 51 @60 QTHSH WEHHeT CFHTesulsd 17 FpHaisd GuT HBTUBSHH 6L
GUMLDIH 60T .

2. BCUTEI BBHJ WHHTOBTMS 43% SenalBEg DHBMHHI6ET6ENSHI.

3. aBurgdl 1 10evedwent  1dH6eT  OFHTenHHEG G0 &IOTT 54  HEBIMIS6I
o _6IT6NG).

a.1,3 b.1,2 c.2,3 d.1,2,3
APPOLO STUDY CENTRE PH: 044-24330436, 42867555, 9840226187
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Which of the following is Non-Tax Revenue?

1. Earnings from Public Enterprises

2. Special assessment of betterment levy.

3. Surcharge

4. Cess

5. Escheats

a.3,4 b.1,2,3,5 c.1,23,4 d.1,2,5
Lleteu(heuaieuBmien e1gl euflanym eurheumul SELW?

. QuUTEHIS SHIOB HBICUDTHIHETET 6UHEUTUISHET

2. Guwbum BésTer FBLYS SHTeneusel

3. &a(BHeL &L L 6WILD

4. Qgerd

5. g6t Hyenel

a.3,4 b.1,2,3,5 c.1,2,3,4 d.1,2,5

Who described about canons of Taxation?

a. Anatol Murad b. Dalton

c. Adam Smith d. J.R. Hicks

oufl algllifenr Lelld elglaet uBm aleufldgeui wmm?
a. 9IGIBGLT6L (Lpyml b. LmeoLeir

C. &L o1l d.J.R. anf&erd

Assertion (A): Direct taxes are Progressive

Reason (R): Rate of tax varies according to tax base in Direct taxation.

a. Both (A) and (R) are correct and (R) is the correct explanation of (A).

b. Both (A) and (R) are correct but (R) is not the correct explanation of (A).

c. (A) is correct but (R) is false

d. (A) is false but (R) is correct

Bl (A): Criwa auflseT euenjaisd CoTeL emel.

smyenrd (R): Grrg  eauflalglinied eufl SuliumLmwl CuUTBISHSH eauflaigd

LOTILI(HLD.

a. (A) vppo (R) @pemipo &M Gwead (R) eemg (A) elBg gfwmen
a6 &BLOTG)LD.

b. (A) wspd (R) @yewibd &fl opemed (R) eeiug (A) alBe sflwmen
Q168 806DV

c. (A) afl gemed (R) seum

d. (A) sam semed (R) o

Choose the correct statement

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187
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1. The Government imposes indirect taxes on tobacco and liquor are
known as Sin taxes.
2. All the consumers, whether they are rich or poor, have to pay indirect
taxes.
3. In India everybody Pays indirect tax as against just 2 percent paying

income tax.

a.1,3 b.1,2 c.2,3 d.1,2,3

gflwmer eursHuwdHms CHTHoH®

1. yewsullewsy OBMID LOHILTEIRISET LH DIFFTRISD alHoHGHD LMBLHHSH6T,
Umed eufl&6lT 6IaIBenpohSLILGBSBS).

2. 616060T HISTCUTTHEHD DICUTHET GJeDLD DIGVEVFHI LIGHISBTITHNTE  E(HHSHTEILD
B(PS alfldemen OFasHs GCeuewiLd.

3. @bgwraled 2 FHaish BUTH6T WL BOW eurpLTar aufl CFISHSHISB Hensouled
LOMB(PS Ul SieneTal(hHLD CFaVIdSHIH TM60TT

a.1,3 b.1,2 c.2,3 d.1,2,3

Assertion (A): Indirect taxes are sometimes unjust and regressive in|

nature.

Reason (R): Both rich and poor persons have to pay same amount as taxes

irrespective of their income level.

a. Both (A) and (R) are correct and (R) is the correct explanation of (A).

b. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

c. (A)is true but (R) is false

d. (A) is false but (R) is true

gpmpl (A): weBs aflee Feo Crrmseflsd BHHWBB wWBHBILD Caulels Herenio

OSBTEMIL SHTEHLD.

smyenid (R): QUHLOTET O L SHHBES SIIUTBUL(H JeDID LOBMID  LIWT&SHTITH6NT

oW Gmaumd @6y weBws afdh FHTmdmUF 0FaHsH Geauewmi(BLD.

a. (A) vppo (R) @gemipo oM CGwead R) eeamgs (A) olBg gfwmen
alleN & &BLDM(G)LD.

b. (A) wppd (R) Syewibd &f ogemed (R) eeiug (A) olBg gflwmen
a6 &HLD6V6V

c. (A) afl gemed (R) seum

d. (A) sap semed (R) o

Assertion (A): Dalton says under indirect taxes 2 + 2 is not 4 but 3 or even
less than 3.
Reason (R): The rise in indirect taxes increase the price and
reduces the demand for goods.
a. Both (A) and (R) are correct and (R) is the correct explanation of (A)
b. Both (A) and (R) are correct but (R) is not the correct explanation of (A).
c. (A)is true but (R) is false

APPOLD STUDY CENTRE PH: 044-24338436, 4287555, 8840226187
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d. (A) is false but (R) is true
il (A): wepupsafiuilsd 2 + 2 6aaiugl 4 9I6V60, DIH 3 DILVVH DIBHBESLD
GMOBUTS E(HBGHWD 616 LTeOL 6 GHBILILNBSMIT.
aryenid (R): LOGHB(LPE euflselt ® wiHGUTSI allenev ®_WIJ6USHT6D
QUTHL BEHdHBTeT CHemeuemul GHMBSHIMBH.
a. (A) vppo R) Gyewibd &M Gwed (R) ereiugy (A) elBg ghwme
aNleNESBLDTGLD.
b. (A) wppd (R) Syewibd &fl opemed (R) eeiug (A) elBg gflwmen
a6 &HL06D6V
c. (A) afl gemed (R) seum
d. (A) sem spemed (R) &l

Choose the correct statement

1. The burden of indirect taxes cannot be shifted.

2. Direct taxes are progressive in nature.

3. Direct tax helps in controlling the inflation.

4. Indirect taxes push up price inflation.

a.1,2,3 b.2,3,4 c.1,2,4 d.3, 4
gilwmer aunsSwsbmsd CaTho% 6

1. wenBwHaufluller FHiewenul WBmeU] W& TBBULIQUITS.
2. Goijwpwseauf Suiedlnd eueNTaiHld ClEHTEwIL mal.

3. Gryupmeaul UIGBHMS S BULUGSHD 2 FHOSHBSI.

4. 1oeBpSHalfl alemed LenaidbsdHms gBLUBSIHIFBS.
a.1,2,3 b.2,3,4 c.1,2,4 d. 3,4

Choose the correct statement
1. Sales tax was multipoint tax with cascading effect.
2. VAT was multipoint tax without cascading effect.

3. GST is one point tax without cascading effect.

a.2, 3 b.1,3 c. 3 only d.1,2 3
gllwmer aunsSwdbmsd CaTho% 6

1. alBuemer aufl 61ILEH DIYHSHeT QleMeNA|L 6T Fnlgul LieO(Lpener eUflum@LD.
2. VAT aemiuBeug Si9H5H6m alenemalee0ms LsO(Lenal aufluim@L.

3. GST aaliug SlgsHHen alenenalsveond @hH(penaT euflum@L.

a.2,3 b.1,3 C. 3 L (B d.1,2,3

Who did first introduce the sinking fund methodology in England?

a. Philip E. Taylor b. Carl. S. Shoup

c. Walpol d. Bastable

BmRIFSeohHFHeL PPGD HIFH (Wemmenwl (PWHedled DIBI(PSLILGSHSHWeT wmy?
a. Wedl. E. QLulev) b. ame0 ererd. Gagml

C. aumeuBLimev d. umeroL et

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187




8.

29.

g | Page

Match the following

Part - 1

A. Union budget

B. State budget

C. Duties levied by the union but
collected and appropriated by the states.
D. Taxes levied and collected by the union

Part - 11

1. Article - 269
2. Article - 112
3. Article - 268

4. Article - 202

DM

but assigned to the states
A B C D

a. 2 4 1 3

b. 2 4 3 1

C. 4 2 1 3

d 4 2 3 1

QUT(HHHIH

uga —1I ugg - 11

A. pgHHw Ul Ol
B. wmplev Ll Qg1
C. wsHaw oPgFTed alHHSLL B, SLETIT60 LDMH6V
SIF aUGILG OBBID UWTLGSHSIUS
D. wsaw opamed aldssliul G, aI@edldasliul (b
LOTHIVMIBEHDHE QHIBDHHIIQUI aIflEH6T
A B C D
3

1. 81855 — 269
2. 5155 — 112

3. gIHH — 268

4. 5155 - 202

an o
NN R
W R G

2
2
4
4

(R SV e

During the time of war emergencies and natural calamities like tsunami,
flood etc., the expenditures allotted in the budget Provisions are not always
enough. Under these circumstances, which budget can be presented by the
government to tackle these unforeseen events?

a. Lame duck budget b. Zero base budget

c. Performance budget d. Supplementary budget

Gumysmeod BEID  Geml, Geueitend Gurelis SuBHensd FBmmiseTer GuTg
OFeaH0Be  @PHHBHH OCFUwiu’L  OFHTend CUIHITEIHTS  E(HLILIFHELM6L.
Bhsy aHTUTITS GloHemevenwl FomeflliugBeTs pdame 6bhd e CFevea s
SHLULID HTHHeL OFuiwiiLpLd?

a. Opmewig auTdHEH euge] GFeeHSHIL L LD

b. uBW e GFeedh S LD

C. Gawevdmer auge] GFeveyd HL L LD

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187
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Which of the following is state government revenue sources?

1. Tolls
3. Taxes on the newspaper

5. Corporation tax
a.3,4,5 b.1,2,4

c.2,3,4,5

2. Land Revenue
4. Taxes on vehicles

d.1,23,4,5

LesTeu(HeUGToUBMIGT 61&HI LOTHI6V DIFFTHISSHHET U(HEUTUT CLPeVMmIS6T DLEGHLD?

1. gms eulfl

2. Blev aU(HeUTUl
3. GQEuwiglsmer Wemer eufl

4. eursent eull

5. GamPed HipleuaImigeT WBHTer eur
a

.3,4,5 b.1,2,4 c.2,3,4,5 d.1,2,3,4,5
Match the following
Finance Commission Chairman

A. Second Finance Commission

B. Fourth Finance Commission

C. Eighth Finance Commission

D. Fourteenth Finance Commission
E. Fifteenth Finance Commission

A B C D E
a. 2 1 4 5 3
b. 1 2 5 4 3
C. 2 1 5 4 3
d 4 2 1 5 3
QUIT(HSHHIS.
PP S (P

A. QrewiLTeugl BHEESW

B. mreismeug B&e@n

C. el Lmougl B&HHEGAD

D. uglpreismeug B&HoHE

E. ugmamsroug BEsew
A B C D

anop

1
2
1
2

= U1 U1
W W W W M

2 5
1 4
2 4
4 5

1. P.V. Rajamannar
2. K. Santhanam

3. N. K. Singh
4.Y.B. Chavan

5. Dr. Y.V. Reddy

HENEV6UT

1. P.V. preiwestenttiy
2. K. gpgmerd

3. N.K. &mi

4. Y.B. Feumen

5. Dr. Y.V. Qglig

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187
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When was fifteenth Finance Commission set up?

a. 2015 b. 2017 c. 2018 d. 2020
LS mbSToUH BHHES&HW 61IGUTH DiendHSUILL L GI?
a. 2015 b. 2017 c. 2018 d. 2020

Choose the correct statement

1. Economic Development is Narrow concept.

2. Economic Growth is wider concept.

3. Economic growth deals with the problems of developed countries.
4. Economic development is quantitative as well as qualitative.

a.1,4 b.2,3 c.2,3,4 d.3,4

gilwmer aunsslwsbmsd CaTho%H .

1. QummHenTHTT (LPeITGIBMLD TG GHMBIBIUI  6T606M6VU DL WIF).

2. QuTmHeNTHTY euenJ&FS eTaliigl alifleuTe 6T6LEM6EVU|EML UIG).

3. QummenmHTy  euenjFd  euenijbd BThHS6eMeT QUTHMTHTY  LIFFFeD6IHener

MBWITEHBH B
4. QUTHENTHTT (LPeITGIBMLD 6TewTenldbend WBBID HJ DIQLILIGHL UNGOTEITSHI.
a.1,4 b.2,3 c.2,3,4 d.3, 4
Who wrote the book “Poverty and un-British rule in India”?
a. Dadabhai Naoroji b. S.N. Agarwal
c. M.N. Roy d. B.R. Ambedkar

“cumleniow)d - @bHwmeled LN as s dl (WBWD” GTEIM BT 61(IYSUIe]
wrri?

a. STHTUTUI HeuGymed b. S.N. sisjeured
c. ML.N. gmul d. B.R. oubBugasi

If people spend larger proportion of their income and time on
entertainment liquor and other illegal activities, productive activities may
suffer who stated?

a. Douglas C. North b. Thomas Piketty

c. Margaret Thatcher d. Ragnar Nurkse

0&&6IT SHhigeer eupoTeD BBID ChIsHeler GLmLGSHmw Gumipg Gumds,

PaFdHeled, FH  DHHBAUDHD, GHHTHUHL OFevMPNHHTEL 2 BLGHI)
BLAIGHMS UTHSSLIUGBD. W Smpluig?

a. Laened &. BT b. smerd L166HL 19
C. WMIHOTL ST &Y d. graeny Bidberd

Who gave the concept of “Vicious Circle of Poverty”?
a. Robbins b. Dalton

c. Douglas C. North d. Ragnar Nurkse
“cumiemioulledt BEFF HFIPMF 6IGIMB H(HHEWSH GUILRIGSIULIIT WITF?

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187
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a. JrLesrerd b. LmeoL esr
C. Ldbenerd &. Bs d. grdeny BHdberd
Bombay plan wasa ____ year investment plan.
a.3 b.5 c. 10 d. 15
umbBu HLLw _ ewiheEpdHeTen 0HTPe0 (PHe BdH HULID GLD.
a.3 b.5 c. 10 d. 15
Match the following
A.S.N. Agarwal 1. Planned Economy of India
B. M.N. Roy 2. Sarvodaya Plan
C.].P. Narayan 3. Gandhian Plan
D. M. Vishveshwarya 4. People’s Plan
A B C D
a. 3 2 4 1
b. 3 4 2 1
c. 4 3 2 1
d 2 3 1 4
OUIT(HSSIb.
A.S.N. 9o®J6eured 1. @bFHw QummenTaTy S L IO 60
B. MLN. gmul 2. FJGaimsmuwidh HI LD
C.]J.P. mmymuiesrest 3. &MhFHwg HLID
D. M. aler0Gaueroouguiwim 4. pdhseir S LD
A B C D
a. 3 2 4 1
b. 3 4 2 1
c. 4 3 2 1
d 2 3 1 4

Who used the statement “our plans are our instructions”?

a. Stalin b. Jawaharlal Nehru c. Nasser d. Sukarno
“BIogl HULID BIOEHBTET DNSIQIMTHNTGD 618 UTHSUIGHeNSH  LILIGITLH &HIUIGUT
wirmiy?

a. eroLmededr b. maanieored GmH C. BTFJ d. asigGe
NITI Aayog is based on the pillars of effective governance.

a.b b.7 c. 10 d. 14

b  oCwrd  Fmbs  Hieursiomet Srewidsellest  SlgliLienL uleD
DIMLDSBSBLILIL_ (66T G

a.b b.7 c. 10 d. 14
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Find which of the following number is divisible by 3 :

a. 221 b. 543 c. 28492 d. 92345
LNeToU(BLD 6THFH 6T60T6eN6eT 3 SLeD UGHHS (LPIQUILD
a. 221 b. 543 c. 28492 d. 92345

A number is doubled and 9 is added. If the resultant is tribled, it becomes
75 what is that number?

a.3.5 b. 6 c.8 d. 33
Q(hH  olewiemfledl &(H WLRGLT 98 &g eUHD  ellewl  (LPDIDL MISTH
OMBBUULLT auBlD alledl. 75 e6lled, Sib%H elew WiTgi?

a.3.5 b. 6 c.8 d. 33

The product of two numbers is 1296. If one number is 16 times the other,
then the largest number.

a. 81 b. 256 c. 49 d. 144
®gewih elewidbelel GLIHESL. LIeved 1296. e(h 66wl LOBOBTEINSET 16  OL MG
6leolled QUIflul  6TEUITEN6M0T  SHIT6UGTIH

a. 81 b. 256 c. 49 d. 144

Sixty-Five percent of a number is 21 less than four fifths of that number.
What is the number?
a. 140 b. 150 c. 135 d. 120

QT 6T6u0T600T 65T g@'{ LRIEBGL 98 eewienier 65%-b@b 2 slen aldhHumgd 21
o160 SIhG 6T60T 61607601
a. 140 b. 150 c. 135 d. 120

The sum of digits of a two-digit number is 15. The number obtained by
interchanging the digits exceeds the given number by 9. Find number.

a. 78 b. 87 c. 96 d. 69

RbH BTy BevdHd clewienllel EevHIMmIB6TN Tl HHOHTMS 15. E60HBMHIGHM6N
QEIBIHOBTEIB  OTBBISH6T cLpevld GUBLILIL L 66wl OBTHEHBILIL L 6TamTenemiailL
9 9IFHBLD 6TdN60 Db 6TNIN6EMIDH  HEuILIUIGYLD.

a. 7’8 b. 87 c. 96 d. 69

Find the wrong number

17,27, 35,47, 61

a. 27 b. 35 c. 47 d.17
SHOUMBTET  6TEIT6EN6MIH  BHEUTLS5IUIGLD

17,27, 35,47, 61

a.27 b. 35 c. 47 d.17
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The cost of three mathematics books and four science books is Rs. 216. The
cost of three mathematics books is the same as that of four science books.
Find the cost of one science books.

a. 27 b. 36 c.72 d. 24

WAIB  SeIFHL LHHIES6T LBDID [BHrald Spfellued UdheHamiseear allenev
(h.216. AW SIS LHHImB6N allensv BTG DBalUIed LigHDHBMISH6N 60
alemevd@ FLo. @H DPalwed HHHBHIH almevanuld SHewil M.

a. 27 b. 36 c.72 d.24

Find a positive number which when increased by 17 is equal to 60 times the
reciprocal of the number

a.17 b. 15 c. 8 d.3
QM Wemas  elewl W HULT 178 S BHCUTEH  HlLSHGWD  HILTEIS
Sl610leuewTenT6T HeneVSPUNET 60 DL RISTGD 6160160 D6106AICITEN6ITE  HIT6ITSH

a.17 b. 15 c.8 d.3

In the NEET exam, out of a total of 180 questions, Jeyanth answered % of

the questions correctly and % of the questions incorrectly. How many

questions did Jeyanth not attend at all?

a. 16 b.24 c. 20 d. none of these
hSBHIUSHSHImBUId CFToumsBE Chdw Senaled HmLOUBID HMWe s CHiTalsd

Ordad 180 alemesel o efene. Ouibd 6IeoTLIGUT % UmIE NemedehaE

gflwnseyib, % UmE oamedsenrdE SUBTHD  alenl WeMwdbHHTed, el

alenLwelldsTs allenmeaeienn oT6wuenlbend 616166167

a. 16 b. 24 c. 20 d. ggifedenev

1001, 1333, 1731, 2201, 2749, ?
a. 3338 b. 3387 c. 3376 d. 3381

The cost of 2 pens and one pencil is Rs. 35. The cost of 3 pens and 4 pencils
is Rs. 65. What is the cost of one pen?

a. 20 b.15 c. 30 d. 35

2 Guenmdhamem OBMID @(h OuaiFleder alemev ch. 35. 3 Guemédsel BBID 4
GueTFlevsefer allewev e 65 eleiled, @b GuenTale allensv 6Teirenr?

a. 20 b.15 c. 30 d. 35
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The sum of two numbers is 12 and their product is 35. What is the sum of
the reciprocals of these numbers?
a. b. % e L d 2

32 8 35 35
Brewih elaniseNe gnl hHoBHTmsd 12 oB@ID DeuBBlar OLIHESD Lever 35.
Bhs erenideler HMEVBINH6T Fnl (HHOBHTEND 616316017
a. b. 38 « X d. 2

32 8 35 35

Find out the odd number in the series given 25, 36, 49, 81,121, 169, 225
a. 36 b. 49 c. 169 d. 225
LNesteu(pLD eTemidb6lT OHTL Toullengulled CUT(HHHTH 6T60Ten6m0IdH SHTEMISH.

25, 36,49, 81,121, 169, 225

a. 36 b. 49 c. 169 d. 225

A man ate 100 grapes in 5 days. Each day, he ate 6 more grapes than those
he ate on the earlier day. How many grapes did he eat on the first day.

a.8 b.12 c.76 d. 54

QHaUT  eelleum  BTE@HD  (PHMSW  Brel  FTOULL  FHFTLeng e e
ol bendmWAl 6 HITLnFH6T FnBHeOTH FTUINBGHBIT. 5 BT HerMle0 100
HIT masen  gTUILLTED  (WHO  BI6T  SeuT  FmidllL  FHymlengsee
6TGU01600NI 60 61601601

a. 8 b.12 c.76 d. 54

To fill a tank, 25 buckets of water is required. how many buckets of water
will be required to fill the same tank if the capacity of the bucket is reduced
to two-fifth of its present?

a. 10 b. 35 c. 62 % d. None of these

Qb (P Hewiewlt  OeTlgemw  HiFiu 25 eutelldeT  Sleey  SHewrewolT
CxpremauiL LTe0, I8 SenajeTen  HewiewiT OFHTLgenw  HIFLL  UGUT(RSI
o oo auteMufllesr  GameenenenauliGuTed 2/5 IDLBIG6TeN  aITellE6T  61dhHeme
GxpemauliipLd?

a. 10 b. 35 c. 62 %

d. gsie0emev

A class starts at 10.00 a.m and lasts till 1.27 p.m. Four period are held
during this interval. After every period, 5 minutes are given free to the
students. The exact duration of each period is:

a. 42 minutes b. 48 minutes c.51 minutes d. 53 minute

Qh eUGUUTeIdH &HTewev 10 wewldh@ OHTLmSI Ul @B wHwWb 127 &G
(WWYSEBIUBHBSH. BTEIG LT ColemendeT o 6lengl. e6albeutm UTL Cauenend @b
@G 5 Pl @uie] Lomewied WTIalSEHHEG  OCBHTHHBIULLTD  66lbleuT(
urL Geuemenmujld etellaueney GBILD HLHE(HBESLD?

a. 42 minutes b. 48 minutes c¢.51 minutes d. 53 minute

APPOLO STUDY CENTRE PH: D44-24333436, 42867553, 3840226187




D7

b8.

b9.

60.

|I6 | Page

DM
Find the missing number 1, 3, 3,6,7,9,?,12, 21

a. 10 b.11 c.12 d. 13
1,3,3,6,7,9,?2,12,21 Gt auflenguled ol(BLL L elemTemimeTg
a. 10 b. 11 c.12 d. 13

In a classroom, if 6 students per bench are assigned to accommodate all
students, one more bench will be required. However, if 7 students are
accommodated per bench, there would be a space left for 5 students. What
is the number of students in the class?

a. 30 b. 42 c.72 d. none of these

@ uGUIed @m Bmbmaulsd 6 GuT aipld DIOTMISHITED, @H SHHMD
FBHTE  CHremaulbGadBgl. 7 Gui  aisbd a1 IOy  emeudbdTeo 5 Guir
® U sMpbuy G oteigdl s aumPma  eleled  au@GlilevieTeneuTseier GLOTHS
6T6U5T 6001 &6 & 7

a. 30 b. 42 c.72 d. none of these

A piece of wire is g m long. If it is cut into 8 pieces of equal length, how

long will each piece be?
a.10 m b. 10 mm c. 10 cm d. 100 m

@(hH ST g 15 HeN(Lp6iTeNnl. DHemedl 8 FIO SleNaeiten FMI HlewI(BHTH

Ceul (b Curgl HlewLHGD @aICGUT(H SHIewIgeT Diee?
a.10 m b. 10 mm c. 10 cm d. 100 m

26,90, 306, 818, 1818, ?
a. 3439 b. 3546 c. 3365 d. 3413
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TEST V
UNIT VI INDIAN ECONOMY & UNIT X
APTITUDE AND MENTAL ABILITY

1721314 5|6 /|7 |8]9 10
D C B|B A D A C | C B
11 |12 |13 |14 |15 | 16 | 17 | 18 | 19 | 20
D C B|A D B A D D) C
21 122 123 124 | 25| 26|27 | 28|29 30
A D A A B D C B | D) B
31 |32 |33 |34 |35 |36 | 37|38 |39 40
A B D A B D D B | A B
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | B0
B/ C/D A A A A D A D
51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
B D A A C B |D|C|C | B

17 | Page
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Find which of the following number is divisible by 3 :

a. 221 b. 543 c. 28492 d. 92345
LNeiTeU(HLD 6% 6T6WIen6 3 S0 aUGHHS (LIQULD

a. 221 b. 543 c. 28492 d. 92345
Explanation:

Sum of digits=5+4+3 =12
Which is divisible by 3
543 is divisible by 3

A number is doubled and 9 is added. If the resultant is tribled, it becomes 75
what is that number?
a.3.5 b.6 c.8 d. 33

@  olewiewiedl  @(H WLMGLET 98 &gl B  elewlL  (LPLDIDL MISTH
LMBBUUL LT auBD alledl. 75 e6iled, Sib%H efew WiTgl?
a.3.5 b. 6 c. 8 d. 33

Explanation:

3(2x+9) =75
2x+9 =25
x =8

The product of two numbers is 1296. If one number is 16 times the other, then
the largest number.

a. 81 b. 256 c. 49 d. 144

Breni(h  elewisemel OGUHBS  LeveT 1296. e 6lewl  LOBOBTEISET 16  LOLMHIG
oTeone0 OLIflul  6TeoITem6IT HT6UITH

a. 81 b. 256 c. 49 d. 144

Explanation:

x X 16x=1296

16x2 = 1269

x2 =81

Xx=9

16x =16 x 9 =144
Thus, the number is 144
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44. Sixty-Five percent of a number is 21 less than four fifths of that number. What is
the number?

a. 140 b. 150 c. 135 d. 120

QT eTeuTeuuN6o g@'[ LRIABGD D68H eewienfles 65%-b@D 2 66 albHwrgid 21 erefled

OIbFH 61601 616016017

a. 140 b. 150 c. 135 d. 120

Explanation:

ﬂx - Ex =21
5 100
80X —65X _ o
100
15x = 2100

x =140

45. The sum of digits of a two digit number is 15. The number obtained by

interchanging the digits exceeds the given number by 9. Find number.

a.78 b. 87 c. 96 d. 69

R OJewih BevdHdH elewienlel BevHBEIGBNT Fnl BHOBHTMS 15. EeVHHMIHEM6N
QEIMISOBTEITM  LOTHBBIEISHET LPeOD GUBLILILL  6T6wl OBHTHHSLILL L eTewienemiall 9
DIPHBID 616D Db 6T6ITEN6NISH  H6vwIL ML LD.

a.78 b. 87 c. 96 d. 69

Explanation:

Let the units digit be x and tens digit be y.
Then, x+y=15.......... (1)

Given number: 10y+x

Interchanged digits: 10x+y
=(10x+y)—(10y+x)=9

=>10x+y-10y—x=9

=>9%-9y=9
=>x-y=1......... (ii)
Solving (i) and (ii)
x=8, y=7

~ Two digit number=78.

46. Find the wrong number
17,27, 35,47, 61
a. 27 b. 35 c. 47 d.17
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HOUMTET 6TRI6NENTS  SHeNIL MIIa|LD

17,27,35,47, 61

a.27 b. 35 c. 47 d. 17
Explanation:

17 +8 =25

25+10=235

35+12=47

47 +14 =61

Then, wrong number is = 27
25 should be in the place of 27. So, 27 is a wrong number.

47. The cost of three mathematics books and four science books is * 216. The cost

48.

of three mathematics books is the same as that of four science books. Find

the cost of one science books.

a. 27 b. 36 c.72 d. 24

PNl SIS LHSHIMIB6T OBBID BTG SPleluied LHHImGBeNear  allensv
216. cpdiml SIS  UHHIMmIB6MT alened BTG DMNaluied LiGHDHBmISHe6N 6o
alemevd@ FIo. @(h DMBelwled LUHHBHSHT allensvenuid SHeuTL 5UIe]LD.

a. 27 b. 36 c.72 d. 24

~

Explanation:

Let the cost of a mathematics book be Rs. x
Cost of a science book be Rs. y.

3x+4y=216 ... (1)
3x=4y ... (2)
LAY
3

- 3(4—3},j+4y =216

=>4y+4y=216=>8y=216
216
V=" -
The cost of one science book = Rs. 27.

27

Find a positive number which when increased by 17 is equal to 60 times the
reciprocal of the number

a.17 b. 15 c. 8 d.3
R  Wemas  etewl  WFHYLST 1783 Sl GWOUTEH S EHGD ST
9l610leuTeNN6T HeneVBSPUNET 60 DL RISTGD 6160160 DI61I06IAICITTEN6ITE  HIT6ITH
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a.17 b. 15 c.8 d.3

Explanation:

x+17:@

X
x> +17x-60=0
(x—-3)(x+20)=0
X=3

In the NEET exam, out of a total of 180 questions, Jeyanth answered % of the

questions correctly and % of the questions incorrectly. How many questions did

Jeyanth not attend at all?

a. 16 b. 24 c.20 d. none of these
WhHHIHISHmBUIL CFTeusmEg Gl  Senaled HOLOUBID HOWadH BCHiTaled

QurdHsd 180  alamebser o elenel. O@uihs — eTedrLIeuT % UmE eleImesEnsE

gflwnseyLb, % UmE@ — eleaimdhsendsd  Hauptsayd  allwl welludhsmer, e

alewL wefldbaTs aleamabserilen eemuenilbend 6161lalI6T6)?

a. 16 b. 24 c. 20 d. none of these
Explanation:
EVIL IR - 14 (Correct)
30 6 180
o100 (incorrect)

18 10 180
No. of questions attended =114 + 50 = 164
No. of question not attended = 180 - 164 =16

1001, 1333, 1731, 2201, 2749, ?
a. 3338 b. 3387 c. 3376 d. 3381

Explanation:
1001 =103 +1

1333 =113+2
1731 =123+3
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2201 =133 +4
2749 =143+5
153+ 6 =3375+ 6 =3381

51. The cost of 2 pens and one pencil is Rs. 35. The cost of 3 pens and 4 pencils is
Rs. 65. What is the cost of one pen?

a. 20 b.15 c. 30 d. 35

2 GuenmdseT LOBMID e Oueidlelle aflemev h. 35. 3 Guenmdhsel wBEWID 4
Queidlevderlesl aleney . 65 elened, 6(H GuenTalel aleney 6T6d60T?

a. 20 b.15 c. 30 d. 35

Explanation:

Cost of 2 pens and one pencil is Rs. 35 (Given)
2x+y=3b

Cost of 3 pens and 4 pencils is Rs. 65
3x+4y=65

By Solving

= 5x=7b

= x=15

Hence, the cost of 1 pen is Rs. 15.

52. The sum of two numbers is 12 and their product is 35. What is the sum of the

reciprocals of these numbers?
7 38 1 12
a. — L= C. — d. =
32 8 35 35
Breni(h elewibeNen gnl BHOHTeNS 12 OBBID DuBSerT OLIHGHHE0 LevaT 35. Bh
TSN GT  HEMGLBINHET Fnl_ (HHOHTEND 616316017

7 38 1 12
a. — L= C. — d. =

32 8 35 35
Explanation:

Sum of two numbers = 12
x+y=12
product of two numbers = 35
xy=35
Sum of reciprocals =1+1 _X*y
Xy Xy

12

" 35
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Find out the odd number in the series given 25, 36, 49, 81, 121, 169, 225
a. 36 b. 49 c. 169 d. 225
Lleiteupld elemidein OHTLTeuflengulled OUMTBHSHTSH 6T60Ten6mTDH BHTENHISb.
25,36, 49, 81, 121, 169, 225
a. 36 b. 49 c. 169 d. 225

Explanation:

The correct sequence is 52, 72, 92, 112, 132, 152.
So, 36 is wrong.

A man ate 100 grapes in 5 days. Each day, he ate 6 more grapes than those he ate
on the earlier day. How many grapes did he eat on the first day?

a.8 b. 12 c.76 d. 54

QUHAUT G6IGIUT([H BITEHLD (WHWHW! BI6lT STULILL ST eNFHET6 616516001 6N HENUIATL
6 ST enFH6T FmbHFHeoTd FTUINGSDBIT. 5 BT HeMe0 100 HyTewgser FTULILLT60
(PFHEO [BT6T DT FTULILL FHITL nFH6IT6IT 6160160015608 61601601 ?

a. 8 b. 12 c.76 d. 54

Explanation:

First day = ‘G’ grapes

G+ (G+6)+(G+12)+ (G +18) + (G + 24) =100
5G + 60 =100

5G =40

G=8

To fill a tank, 25 buckets of water is required. how many buckets of water will be
required to fill the same tank if the capacity of the bucket is reduced to two-fifth off
its present?

a. 10 b. 35 c. 62 % d. None of these

QM (WP HewiewiT OHTUigenul HIFLL 25 euTelldeT e HewientT GhHemeulil Lmev,
9185  oleneyeiten  GHewrewlT QBT genwl  HIFLL  @UOumupgdl 2 eten  eumefuled
Qs meitenenenaulIBLUTEd 2/5 DL BiGeiTen auTefde e1dHHmer BHemaulLiBLd?

a. 10 b. 35 c. 62 % d. None of these

Explanation:

Let the capacity of 1 bucket = x
Then the capacity of tank = 25x

New capacity of bucket = %x
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Required number of buckets = %

()

5
= (ZSX X ij
2X

=15 _65
2

56. A class starts at 10.00 a.m and lasts till 1.27 p.m. Four period are held during this
interval. After every period, 5 minutes are given free to the students. The exact
duration of each period is:

a. 42 minutes b. 48 minutes  c. 51 minutes d. 53 minute
Qb GUUTeIEH  &Temev 10 wwewld@ OsTLmsl  ul@ wHubd 1.27 &G
(WPYSELILBHMBH. BTG UTL CouemendeT o eitengl. @elbeumh UM Gauemend@d &enl Gul
5 poL @uie] LTewial LoTaualseEnhsdsEd  0aThHalIulLTe0 ealbeum(h LML Gouenemub
erelaueney GBI BLHSH(HEHEGLD?

a. 42 minutes b. 48 minutes  c. 51 minutes d. 53 minute

Explanation:

10 am to 1.27 pm = 3 hours 27 minutes.
= 207 minutes
Interval = (5 minutes are given after every period)
4 periods, 3 intervals
Total Time duration (Interval) = 15 minutes
Total time duration (Period) = 207 - 15 =192

Duration of each period = % = 48 minutes

57. Find the missing number 1, 3, 3,6,7,9, 7,12, 21

a. 10 b. 11 c. 12 d.13
1,3,3,6,7,9,?2,12,21 QarLit auflenguied ol(BLL L  elemTemimeng
a. 10 b. 11 c. 12 d.13
Explanation:
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Hence, the answer is 13

In a classroom, if 6 students per bench are assigned to accommodate all students,
one more bench will be required. However, if 7 students are accommodated per
bench, there would be a space left for 5 students. What is the number of students
in the class?

a. 30 b. 42 c.72 d. none of these

@ uGLT0 @ Bmemauled 6 Cui aisld SILFMmaISDHTED, QH DHHMD Fn(HHeVTH
Cremauliupdmgl. 7 CuT aimpld el SO MaudHSHTev 5 Guit o L &SmHbLy G LoTeigl|
BHD aUmHBBEH 6lefled auGLiLlsvieieneuTdeiillei OLOTS S  6l6wTeu0N dHend ?
a. 30 b. 42 c.72 d. none of these

Explanation:

Let the number of benches in the class be x
Then6 (x+1)=7x-5
x =11
Hence number of students in the class =6 (x + 1) = 6 x 12=72

A piece of wire is % m long. If it is cut into 8 pieces of equal length, how long will

each piece be?
a.10 m b. 10 mm c.10 cm d. 100 m

RUH  SIDLIWITETS] g 5 Hen(peiengl. @FHement 8 JFI0 Sleneyeiten  Fml  HleWIHBH6ENTH

Gau B Gurgl FHDLSGWD @aICAITH HIWIQT D66’
a.10 m b. 10 mm c.10 cm d. 100 m

Explanation:
Length of a piece of wire = gm.

=0.8m

=80 cm

= @=10cm
8

26,90, 306, 818, 1818, ?
a. 3439 b. 3546 c. 3365 d. 3413
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Explanation:

26.90. 306, 818, 1818, 3546

VV VIV VY

64 216 512 1000 1728

@) (69 (&) (103 (129
Ans: 3546
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